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QUESTION 1

An architect plans to deploy a Mobility Controller (MC) at one building in subnet 10.23.01.0/24 and another MC in
another building in subnet 10.44.12.0/24. The MCs need to provide redundancy for each other. 

What must the architect take into account in the redundancy plan? 

A. The MCs cannot provide any level of redundancy for each other unless one is moved into the other\\'s subnet. 

B. The MCs cannot be in a cluster, and they must use Virtual Router Redundancy Protocol (VRRP) to provide
redundancy for each other. 

C. The MCs can be in a cluster, but the cluster will not support features such as stateful failover. 

D. Each MC can be the backup LMS for the other MCs\\' APs, but it cannot be in a cluster with the other MC. 

Correct Answer: B 

 

QUESTION 2

A plan includes these security settings for the employee WLAN: 

1. 

WPA2-Enterprise with AES encryption 

2. 

802.1X with PEAP-MSCHAPv2 

However, the customer wants to use certificates to authenticate user devices. 

Which change brings the plan in alignment with the customer requirements? 

A. Use EAP-TLS instead of PEAP-MSCHAPv2 

B. The TKIP encryption instead of AES. 

C. Add WPA2-PSK as an alternative to WPA2-Enterprise. 

D. Add Tunneled TLS (TTLS) as an alternative to PEAP-MSCHAPv2. 

Correct Answer: D 

 

QUESTION 3

Refer to the exhibit. 
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The customer requires fast failover if any one link or core device fails. 

Which additional technology should the architect plan on the core VSF fabric to meet these criteria? 

A. OSPF graceful restart 

B. SmartLink 

C. BGP 

D. VRRP 

Correct Answer: C 

 

QUESTION 4

Refer to the exhibit. 
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A customer needs to upgrade the wireless network at their campus, which has a single large building. Employees use
the wireless network to access the Internet and centralized services. The building has four floors. These are the
requirements: 30 APs on each floor A Mobility Master (MM)-based architecture Deployment of one Aruba 7030 Mobility
Controller (MC) on each floor, with the MCs combined in a cluster for seamless client failover and roaming 

What should the architect explain to the customer about the proposed solution? 

A. MCs should be deployed centrally on the same VLAN to better meet these goals 

B. MCs in a cluster must have additional AP licenses to support APs of a failed controller 

C. The MC 7030 does not support enough APs for the requirements 

D. The MC 7030 only supports clusters with up to three members 

Correct Answer: A 

 

QUESTION 5

Refer to the exhibit. 
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The customer needs to expand its wired and wireless network to a new building, Building 2, which is near the existing
building, Building 1. The exhibit shows the logical plan that the architect has created so far. The aggregation layer
switches in the new building should provide the default gateway services for the VLANs in the new building and route
traffic to the core. The existing Aruba Mobility Controllers (MCs) will control the new APs. 

What should be the VLAN assignment for Link 1, indicated in the exhibit? 

A. an unused VLAN such as 200 

B. VLANs 21, 22, and 23 only 

C. VLANs 11, 12, 13, 21, 22, and 23 

D. the default VLAN and VLAN 14 

Correct Answer: C 
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